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Zadanie 1. Wyznacz pochodna podanych funkcji
(1) [6:58 + 28 4 423 — 22 + 1}/ =

/ Rz
(2) [7x+z—§2+;5] = (26) :4+\3/5]/_
(3) [5x6+sinm—9x+cosa:]/: (27) ﬁ:i} =
(4) [:sinx+2005:v—4arcctgx]': 34$3_2$+1 /
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r / L
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R
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:9 5 ! 33 ;:os 4a) + 2arctg (7x)] =
(10) | Va? Va? = {”/1972] - §34; [[s (31‘)—1—3] S
(11) [4x53x]/* (35) [arcsin (62?) +smf]
(12) [5avz +22%yx]) = (36) [3arctg (z®) + tg (82%)] =
2 /_ (37)  [cos® :1:+arctg x] =
(13) |2® (3vz + = ,
[ ( . x>l . (38) [sm cos (z%))]" =
(14) K%Mx) (ﬁﬂ)] - (39) [sin® ] |
(15) [sinz - cosz] = (40) _(arctg(?x —1—\/5)—1—2)4} =
(16) [(x2—3x)/8inx]/: (41) [_(ng_l)ctgﬁ]/:
(17) [Vactga] = / (42) _\?/?T:Uarccos(éla:—kl)}/:
(18) [(;/\;/:;c— 2,x) arctgz] = (43) [oos (+2) tg (4)] =
(19) x?’%} = (44) _arctg(4:v)} B
328 + 202 — 30+ 1]’ (32)
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(22) & j_;/ﬂ = (47) [cos (z - arctgx)] =
r ) 10 ! (48) [g (Ctgl‘)} = /
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[ 5af ! 72
(24) :_smux} = " [ —
20 +1]1 poppel B
(25) _3:c—2} _
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Zadanie 2. Oblicz podane calki

(1) /(7:p2+az+1)da:= (21) / cos (3x) +xf)d:c—

) /<8x3—;2+3>d - o) [

(3) /53\/a72+ 3~ 20V/r) do = (23) /21 S 1)2 _

) /()(“W)dx: (24) /2 207 V/23 + 1 do =

(5) /14(2952 + ;5) dz = - /14

o [T 20 [

(7) /W dw = (27) /smxcos z dv =

(8) / o \3_/5‘/5 dr = (28) / sin z cos z da —

() / )T dr = (29) / sin? 2 cos® & dar =

(10) /\/x\/m dx = (30) / sin® 2 cos x dx =
1/2 4 cosx

(11) /0 = dz = (31) /Sm .

(12) /i(cosBx—i—Q) dr = (32) /Cffl;:f

(13) /x;:j o (33) /x sinz dr =

(14) /(SijQx_C0:2m> do — (34) / (32% — z) cos 2x dx =

(15) /\/15_7332 de — (35) / z? cosx dx =

(16) /005(3—233) dx = (36) /0 (14 cosz) dx =

(17) /(5 —32)30 dx = (37) /0 xsin 2z dx =

(18) /(4;22)5 dr = (38) /sm4x cos 2z dz =

(19) /12 20v/322 — 2 do = (39) /x2 arctgz dr =

(20) /Sir\lff dr = (40) /xsmxcosa: dr =



